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(Wiederholung ASO 6) 

 
10 hl = _________ l 
21 hl = _________ l 
123 hl = _________ l 
87 hl = _________ l 
 
4 hl = _________ l 
18 hl = _________ l 
185 hl = _________ l 
94 hl = _________ l 
 

751 l = _________  
840 l = _________  
985 l = _________  
852 l  = _________  
 
842 l = _________  
125 l = _________  
2891 l = _________  
7164 l = _________  
 

3 hl = _________ l  
67 hl = _________ l 
876 hl = _________ l 
26 hl = _________ l 
 
 
 

a.) 4 hl 63 l + 1 hl 56 l = 
b.) 8 hl 19 l – 3 hl 24 l = 
c.) 34 hl 41 l . 16 
d.) 13 hl 86 l : 7 

 
 
 
 
 
 
 
 
 

224 l = _________  
452 l = _________  
104 l = _________  
991 l = _________  
 
 


